Virtual Card Sort Activity

Instructions
· Start by drawing out three columns on a pieces of paper.  Head up each column with one of the men’s names (Gary, David, Barry)
· Then, using the numbers of the statements below, decide which statements belong under each man’s name.  The statement with the man’s name on should be at the top.  After that, see if you can put the others in the correct order under the correct man’s name
· Once you have done this, decide which man has an over-harsh superego, which has a weak suprego and which has a deviant superego and write these terms under the correct column


1. He has developed a very strong sense of morality

2. He remembers seeing his father preparing for his next burglary job

3. Barry’s mother was a single parent

4. He doesn’t think about whether his behaviour is right or wrong

5. Gary’s parents have very traditional Victorian values about raising children

6. This is because he is focused on the pleasure he gets, rather than the consequences to the victim

7. His dad told him that you need to make your own luck in life, in whatever way you can

8. His parents used very harsh punishments and are unforgiving of his bad behaviour

9. He feels constantly guilty

10. He steals cars because he loves fast cars and he can’t afford to buy one

11. It is a job, like any other

12. His father left home when he was a baby

13. This leads to a feeling that he needs to be punished

14. He thinks it is fine to steal things

15. David’s father has spent time in jail

16. There would be a bag full of tools in the living room and some dark clothing in a bag under the stairs

17. [bookmark: _GoBack]He robbed a bank because he knew he would get caught
